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QUESTION 1

Which event is always triggered when the client sends data to a virtual server using TCP?
A. HTTP_DATA

B. CLIENT_DATA

C. HTTP_REQUEST

D. VS_CONNECTED

Correct Answer: B

QUESTION 2

Which three parameters can be specified within the Setup Utility? (Choose three.)
A. password of the "root" user

B. IP address of an NTP server

C. IP address of an initial Wide-IP

D. IP address restrictions for SSH access

E. all necessary administrative IP addresses (including floating addresses)

Correct Answer: ADE

QUESTION 3

How do you support non intelligent DNS resolution in an environment with GTM Systems and standard DNS servers?

(Choose two.)

A. The GTM System must be a secondary server in all of your zones.

B. Your GTM System must delegate some DNS names to the DNS Servers.

C. Your DNS servers may delegate some DNS names to the GTM Systems.

D. The GTM System may have a Listener set for your DNS server\\'s address.
E. The GTM System may have a Listener set for the GTM\\'s loopback address.

Correct Answer: CD
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QUESTION 4

In 200 db8 IPv6 address block is allocated to a load balancer for use as virtual server addresses. The address block
balancer set ip address using a static route.

What is the representation for the last address in the address block that a virtual server can use?
A. 2001 db8 :: ffff,.ffff. ffff. ffff

B. 2001 db8::

C. 2001 db8 :: 255

D. 2001 db8 ffff. ffff. ffff. ffff

Correct Answer: D

QUESTION 5

A BIG IP Administrator needs to create a virtual server for a new secure end-to-end web application After change in
configuration the virtual server .3 still marked down. The configuration of the virtual server and the pool member are
correct. A quick server shows the status. To fix the issue, what should the BIG-IP Administrator inform the web server
administrator to do?

A. change web server configuration to use SSL/TLS
B. reboot the server

C. restart the web service

D. change web server configuration lo use SSH/SCP
Correct Answer: A

If the application needs to be secure “end-to-end\\'\\' the web server needs to use SSL as well. Most web servers will not
required to HTTP requests when configured with HTTPS, so the monitor is failing.
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